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Exercise 1. Which of the following figures 1–12 can you refer to as:

	a) a chart?

b) a diagram?

c) a pie chart? 

d) a flow chart?
	e) a table?

f) a bar chart? 

g) a graph?

h) a line graph?
	i) a bell curve?

j) a radar graph (chart)?

k) a bubble chart?
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Exercise 2. Look at the figures 1–10 again (in Exercise 1) and decide which ones are about:

a) change over time

b) proportions (check this word if you do not know it)

c) a process
Exercise 3. Can you identify the following in the figures 1–10 (in Exercise 1)? Where? 

	a) a segment

b) a category

c) a stage
	d) an axis (plural: axes /′æksí:z/)

e) a step

f) proportion.


Exercise 4. Put the verbs used for describing trends in the appropriate section in the above table. Use a good dictionary to check the meaning of any unknown words.
	level off ( go up ( even out ( go down  ( crash ( reach a low/an all-time low ( remain constant ( reach a high/an all-time high ( bottom out ( stabilise ( remain unchanged ( lean ( drop ( nosedive ( flatten out ( peak/reach a peak ( fluctuate ( plummet ( rally (  slump ( take off ( top out ( shoot up ( recover ( fall ( skyrocket ( soar ( bounce back ( plunge ( climb ( boom ( have/experience a few ups and downs ( pick up ( hold steady ( rise ( decrease ( increase ( dip ( slide ( slip ( jump ( level out



	

	
	
	

	
	
	
	

	


	
	
	

	
	
	
	

	


	
	


	

	
	
	
	


Exercise 5. Read the description of the line graph which follows and draw the missing part of it in the picture below.
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The line graph shows figures for unemployment in the UK workforce between May 2003 and July 2006. It is clear from the chart that the rate of unemployment fluctuated a great deal during this time. 

At the beginning of the period, unemployment stood at 5.1 per cent. A few months later the figure had risen slightly to 5.2 per cent. Unemployment then remained stable until September 2003. From this point on there was a steady downward trend and by January 2004 the rate had fallen to 4.9 per cent. It stayed at this level until May the same year, but from May to July there was another small drop of 0.1 per cent. There were no further changes in the level of unemployment until March the following year. From March to May 2005, there was a small increase of 0.1 per cent, but this did not last long and the figure had fallen back to 4.8 per cent by July. From September 2005 onwards, however, there was a marked upward trend in the rate of unemployment in the UK. From September 2005 to November the same year, the figure shot up from 4.8 to 5.2 per cent. The rate remained stable for a few months, but then rose sharply again, and had reached a peak of 5.7 per cent by July 2006.
	WRITING THE INTRODUCTORY PARAGRAPH


Read the sample of the task and possible introduction for your description below. How has the introduction been reworded?




Exercise 6. For each figure below, write a possible introductory paragraph.

Figure 1: The chart provides percentage of private consumption based on purchasing power parity for 2005.

______________________________________________________________________________________________________________________________________________________

Figure 2: The bar chart illustrates the proportions of foreign-born individuals with Science or Engineering Doctorate Degree, living in the U.S., by nation of birth, in 2008.  

_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Figure 3: The bar charts give information about the direction of the annual outflows of foreign direct investment for selected regions and countries between 1985 and 2006.

_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Figure 4: The chart shows the steel production and consumption in China and USA from 2000 to 2009.

_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Figure 5: The chart shows percentage of annual rates of inflation figures in consumer prices for selected countries in 1995, 2000 and 2008.

_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Figure 6: The flow chart illustrates the process of foreign market selection.

_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Figure 7: The table and chart show regional and global population changes between 1950 and 2000 as well as the increase in urban populations in the same period, with a projection for 2050.

_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Figure 8: The chart provides global brands ranked by their value between 2006 and 2008.

_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Figure 9: The line graph indicates fluctuation of Euro to U.S. Dollar exchange rate from January 2004 to September 2008. _______________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Exercise 7. Study the figures below. Write the first sentence of the description and then suggest the overall comment (the striking feature) to Figures 1 and 2 below.
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Overall comment______________________________________________________________
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You might wish to check your answer with the Answer Key.

6. Write a short description of the graph which shows Starbucks’ coffee exports to the European countries between 2000 and 2009. 

    Starbucks’ coffee export to the European countries  
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Write your answer here:

_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________


	DESCRIBING CHARTS


STEP 1. Understanding charts 
(Supposed fulfilment time – 10 minutes)

	The first things you should do when you attempt the visualised data description task are as follows:
· read the question twice very carefully
· look at the table or chart very carefully until you are sure what it shows and what it doesn’t show.

There are three important things to look at in a chart before you write
· the title of the chart – this will tell you what is being shown overall, and it usually gives the time period that it represents (e.g. 1980, 2000)

· the titles of the vertical and horizontal axes – these will tell you what the units of measurement are (e.g. centimetres, kilos, Euros) and what groups are being compared

· the key or legend (if there is one) – this will tell you what groups or time periods are shown.

 [Tip: The titles and labels on the chart also give you useful vocabulary to use in your description]


Exercise 1. Look at this chart and decide if the statements below are true (T) or false (F) according to the information shown, or if it is impossible to tell (I). Put a tick ( in the appropriate box to indicate your choice.
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	F
	I

	1.
	The chart shows how many Australians travelled abroad for work between 1992 and 2001.
	(
	(
	(

	2.
	The chart shows the numbers of workers immigrating into Australia between 1992 and 2001.
	(
	(
	(

	3.
	The total number of immigrants into Australia in 1992 was about 54 thousand.
	(
	(
	(

	4.
	The chart compares two types of foreign worker.
	(
	(
	(

	5.
	40 percent of foreign workers who came to Australia in 1992 were permanent settlers.
	(
	(
	(

	6.
	The total number of permanent foreign workers in Australia in 1995 was about 34 thousand.
	(
	(
	(

	7.
	Just under 15 thousand temporary foreign workers entered Australia in 1992. 
	(
	(
	(

	8.
	In 2001 fewer temporary workers arrived than workers who were permanent settlers.
	(
	(
	(


STEP 2. Understanding charts
 (Supposed fulfilment time – 10 minutes)
	Describing a chart is similar in lots of ways to describing a table of figures. Remember that you have to do the following when you first look at a table:

· check dates to see what the time period is

· check what the units of measurement are

· decide what the most important information is

· decide what details are not so important

· make comparisons between important figures

· round figures up or down when possible

You should do the same things when you study a chart.


Exercise 2.  Look at the pie chart below and look for all the things in the list above. Complete the text with phrases, words and numbers from the box which follows.
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The chart shows the different nationalities that made up the immigrant work force in Australia in (1) ……........... It’s clear from the chart that there were (2) …….....…. main groups of workers: Europeans, Asians and New Zealanders. Only a relatively small number of workers were from other regions.

The (3) ……........……. of foreign workers came from Europe. In fact, nearly (4) ....…………. of all immigrant workers were of European origin. The (5) ....………….. group of foreign workers in the labour force were Asians. They represented just under (6) ……...…….. of the immigrant labour force. New Zealanders, who made up almost (7) …..…......…… of the foreign workforce in that year, were (8) …........……… group.

The number of workers from other nationalities was much (9) ....……..………. Workers from North Africa and the Middle East, for example, were only (10) ....…..……….. per cent of the whole foreign labour force.

The (11) …...……….. nationality group, however, were Americans. These represented only (12) …....……….. per cent of all foreign workers in Australia in 1991.

STEP 3. Static and dynamic charts 
(Supposed time fulfilment – 10 minutes)
	The pie chart in activity 3 showed the situation at one point in time. This kind of chart is called a static chart. When you describe a static chart, you only need to use simple tenses (present simple or past simple, for example).


Exercise 3. Look again at the description you completed in Exercise 2 and underline all the verbs in past simple.

Now look at the chart below. It compares the size of the immigrant workforce in Australia 1991 with that of 2001. In other words, it shows change over time. This kind of chart is sometimes called a dynamic chart. To describe dynamic charts, you need to use a variety of tenses, such as:

· simple past (Between 1991 and 2001, the population increased).

· past perfect (By 2001, the population had increased).
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Exercise 4.  Complete the description of the chart below by putting the verbs in the correct tense.
The bar chart compares how the immigrant labour force in Australia 1………… (change) between 1991 and 2001. The first thing to note is that the total number of immigrant workers 2………… (increase) over this period by about 200,000. However, there 3………… (be) other important changes in the makeup of the immigrant workforce. By 2001, for example, the number of European immigrant workers 4………… (fall) by almost 200,000. In contrast, the number of all other nationalities in the workforce 5………… (rise). In 1991 the number of Asian workers, for instance, 6………… (stand) at around 380,000. Ten years later, this figure 7………… (go) up to over 580,000.

Step 4. More about dynamic charts and verb tenses 
(Supposed fulfilment time – 10 minutes)
	Some dynamic charts, like the one in Exercise 3, show a change in values from one time in the past to another time in the past. Other charts, however, may compare the past with the present.

Occasionally, charts even show predictions about the future. In each case, you need to make sure that you are using the correct verb tenses to describe the chart. For example, you could use:

Present perfect: The price of oil has risen by €0.10 every month since January.

Present perfect continuous: Average temperatures have been increasing since the beginning of the century.

Future perfect: The population will have reached sixty million by 2030.

Remember that it is important to use the correct time phrases with the tense you are using.


Exercise 5. Choose the phrases which can go in the gaps (there may be more than one possible answer):

1 ............………. prices fell.

A In 2005

B By 2005

C After 2005

D Since 2005

2 …..........…….. prices had fallen.

A In 2005

B By 2005

C After 2005

D Since 2005

3 …..............……. prices have fallen.

A In 2005

B By 2005

C After 2005

D Since 2005

4 …............……. prices have been falling.

A In 2005

B By 2005

C After 2005

D Since 2005

5 …….............…. prices will have fallen.

A In 2015

B By 2015

C After 2015

D Since 2015

Exercise 6. Now look at the chart below and complete the description with the correct verb tense.
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The chart 1____________________ (show) the ratio of the population aged 65 and over to the labour force of twelve different countries, and how this 2____________________ (change) by 2020. It is clear from the chart that in 2000 some countries already had a high ratio. In Italy, for example, the population aged 65 and over 3____________________ (be) over 40% of the size of the working population. Hungary also 4____________________ (have) a high ratio in 2000. Its retired population was over 30% the size of its working population. However, the figure varied a lot between countries. In Turkey and Korea, for example, it 5____________________ (be) only just over 10%. The chart also 6____________________ (make) predictions about how this ratio 7____________________ (change) in the future. It is clear that all the countries shown have an aging population. Hungary 8____________________ (have) the biggest change. By 2020 the ratio of retired people to workers9____________________ (reach) almost 60%. This is an increase of almost 25%. Even in Korea the ratio 10____________________ (increase) to over 30% by 2020.
	Optional Extension


Study the charts and the description. Write both the introductory and the conclusion paragraphs for the answer which follows.

	You should spend about 20 minutes on this task.

The charts below show the main reasons for study among students of different age groups and the amount of support they received from employers. 

Summarise the information by selecting and reporting the main features, and make comparisons where relevant.

 

 You should write at least 150 words.
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_________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

 
The first graph shows that there is a gradual decrease in study for career reasons with age. Nearly 80% of students under 26 years, study for their career. This percentage gradually declines by 10-20% every decade. Only 40% of 40-49 year olds and 18% of over 49 year olds studying for career reasons in late adulthood. Conversely, the first graph also shows that study stemming from interest increases with age. There are only 10% of under 26 year olds studying out of interest. The percentage increases slowly till the beginning of the fourth decade, and increases dramatically in late adulthood. Nearly same number of 40-49 year olds study for career and interest. However 70% of over 49 year olds study for interest in comparison to 18% studying for career reasons in that age group. 

The second graph shows that employer support is maximum (approximately 60%) for the under 26 year students. It drops rapidly to 32% up to the third decade of life, and then increases in late adulthood up to about 44%. It is unclear whether employer support is only for career-focused study, but the highest level is for those students who mainly study for career purposes.
_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________

	DESCRIBING TABLES


STEP 1. Understanding Tables 
(Supposed fulfilment time - 10 minutes)
Before you begin writing, take a few minutes to ‘read’ and understand the table. Think about the following:
· Read the instructions carefully these will tell you what the table shows.

· Does the table have a title? If it does, read it carefully so that you know what the table is about.

· Is the table static or dynamic? (Static tables show data at one point in time; dynamic tables show how data changes over time. This will affect the language you use in your description).

· What do the columns and rows represent?

· What unit of measurement does each cell represent? Kilometres, Euros, litres…??

· Be clear about what the table does not show!

Exercise 1. Read this task and then decide whether the statements which follow are true or false or if it is impossible to tell from the data. Choose True (T), False (F) or Impossible to Tell (I).
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The table below shows how the percentage of British adults who use the Internet changed
over a five year period.

Write a report for a university lecturer describing the information shown below.

Percentage of adults in Great Britain who have used the Internet for 3 months before being

interviewed
October October October October October | October
2000 2001 2002 2003 2004 2005
» 16-24 70 78 85 88 90 87
s 3 25-44 53 61 73 76 79 81
< % 45-54 46 50 59 64 67 75
55-64 24 30 41 45 48 51

Source: National Statistics (see http://www.statistics.gov.uk/copyright.asp for copyright details)





	
	
	T
	F
	I

	1.
	The table shows the number of people in Great Britain who use the Internet. 
	(
	(
	(

	2.
	The table shows the percentage of people in Great Britain who used the Internet between July and October each year.
	(
	(
	(

	3.
	The table shows change over time (dynamic).
	(
	(
	(

	4.
	In October 2000, more 16 to 24-year-olds used the Internet than 25 to 44-year-olds.
	(
	(
	(

	5.
	The lowest percentage of Internet use is with the 55 to 64-year olds.
	(
	(
	(

	6.
	In October 2004, only forty eight 55 to 64-year-olds used the Internet.
	(
	(
	(

	7.
	10 per cent of 16-24 year olds didn’t use the Internet in October 2004.
	(
	(
	(

	8.
	The percentage of people in Great Britain who used the Internet increased over the five years.
	(
	(
	(


Ways of expressing numbers (Supposed fulfilment time - 5 minutes)

Exercise 2. There are a number of different ways of expressing the same figure in English. For example, we can say ‘a half’, ‘one in two’ or ‘fifty per cent’ and they all mean the same. It’s a good idea to vary the way you express figures in your description of the table or chart. All the phrases below can be used to describe figures. Group them into phrases which mean the same.

	1 a fifth ( 2 a quarter ( 3 a tenth ( 4 a third ( 5 just over sixty per cent ( 6 just over thirty per cent ( 7 one in five ( 8 one in four ( 9 one in ten ( 10 one in three ( 11 seventy five per cent ( 12 ten per cent ( 13 three out of four ( 14 three quarters ( 15 twenty five per cent ( 16 twenty per cent ( 17 two out of three ( 18 two thirds


	
	
	

	
	
	


Ways of expressing numbers (Supposed fulfilment time – 10 minutes)
Exercise 3. Now look again at the table about Internet usage from Exercise 1. Use some (appropriate) expressions from Exercise 2 to complete these sentences about the table. Remember to use a variety of ways to describe the figures.
16-24-year-olds had the greatest Internet usage. In 2004, for example, 1[....................] out of ten people in this age group used the Internet. In 2001 just over 2[.......................] of 25-44-year-olds used the Internet. Two years later, the figure was just over 3[..........................].

For the 45-54-age group, Internet usage rose from just under 4[......................] in 2000 to 5[........................] in 2005. In 2000, only one in 6[..................................] 55-64-year-olds used the Internet. This figure had risen to over 7[.................................] by 2005.

Using quantifiers (Supposed fulfilment time - 5 minutes)

When dealing with tables you may have to describe amounts. You will need to be careful using quantifiers, words like ‘much’, ‘many’, ‘some’ etc.

Exercise 4. Put the words and expressions below into the correct group.

	a large amount ( a little ( a lot of ( a small amount ( a small number ( few ( fewer ( fewer and fewer ( less ( less and less ( many ( more ( most ( much ( no ( none of ( several ( the majority of


	Used with countable nouns

(men, women, cars, hours etc)
	Used with uncountable nouns(time, money, water etc)
	Used with both countable and uncountable nouns

	
	
	


Using quantifiers (2) Supposed fulfilment time – 10 minutes

The table below show how men and women spend their time each day. It’s a static table i.e. it doesn’t show changes over time, but compares values at one point in time. Notice also that the table has two sets of figures: the black figures show time spent in minutes, the blue figures show the actual number of people asked who said that they do these activities.

Exercise 5. Now look at the table and complete the description by choosing the best word or phrase for each gap.
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Men Women All
(total interviewed = 100) (total interviewed = 100)
Average minutes per day
Activity (Number of people participating in activity)
Sleep 503 513 508
100 100
Personal care i.e. 41 52 47
wash/dress 97 98
Housework 126 215 173 i
85 2 E
Entertainment and 6 6 6
culture 5 6
Hobbies and games 26 16 21
26 22
Watching TV 161 137 148
88 87
Childcare 11 28 20
14 24

(adapted from National Statistics information (see http://www.statistics.gov.uk/copyright.asp for
copyright details)





The table shows how 1[much/many] time people spend on certain daily activities. Not surprisingly, everybody surveyed spent 2[a lot of/many] time sleeping. However, men spent slightly 3[fewer/less] time sleeping than women did. After sleeping, the next most time consuming activity was housework, taking up 178 minutes per day, on average. Again, though, there was a marked difference between men and women, with women spending 4[many/much] more minutes per day on this activity than men. In addition, a greater 5[amount/number] of women than men reported that they spent time on housework and childcare. In contrast, men spent a greater 6[amount/number] of time on their hobbies and games than women did. Very 7[few/many] people surveyed spent much free time on entertainment and culture. For the 8[majority/most] of people, free time was spent watching television. Almost nine out of ten people reported that they spent 9[several/lots] hours watching TV every day.
Exercise 6. Look at the example task 1 question below and then try to complete the sample answer using language we have looked at so far in this lesson.
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The table below shows the prevalence of smoking amongst adults in Great Britain. Write a
report for a university lecturer describing the information shown below.
Cigarette smoking status by age and gender
Light Heavy All
smoker smoker smokers

Men % of population
16-19 19 4 23
20-24 32 5 36
25-34 26 9 35
35-49 18 12 31
50-59 13 12 26 E
60 and over 10 5 15
Women
16-19 24 1 25
20-24 25 5 29
25-34 22 6 28
35-49 19 9 28
50-59 14 8 22
60 and over 10 4 14





The table shows […………….……………………………………….] and compares the prevalence of smoking [……………………………………………..]. It’s clear from the figures that smoking is most common [……………………………………………………………]. Nearly [………..………….] men and exactly

[……………………………………………………………] women are light smokers at this age, while […………………………………………………………………………..] are heavy smokers. The figures also show that as age increases [……………………………………….]. This trend is true for [………………………………………………………]. The most disturbing figures are those for 16 to 19 year olds. Around [……………………………………………………………]. The percentage for girls […………………………………………………………………] in this age group, but it seems that teenage boys [……………………………………………………………………….].


	DESCRIBING DIAGRAMS


STEP 1. Understanding diagrams
(Supposed fulfilment time – 15 minutes)
	The diagram will usually show a process or how something works. You can see an example below. Just as for charts and tables, it is important that you spend some time carefully looking at the diagram until you understand what it shows. Look for the following:

· the main parts or sections of the diagram.

· the relationship between parts in the diagram.

· the order of any stages shown in the diagram.

· any key that accompanies the diagram and helps to explain it

Before you write, try to imagine in your mind how the object works or the process develops. Keep in mind what the result of each stage will be or what the purpose of each component is.


Exercise 1. Look at this example question and match the letters in the diagram with the components listed below.
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Writing Task 1

The diagram below shows the basic operation of a hydraulic lift.
Write a report for a university lecturer describing the information in the diagram.

Write at least 150 words

A hydraulic lift

Graund Floar





	1
	lift carriage             
	F
	6
	piston housing
	

	2
	control button
	
	7
	pump
	

	3
	piston
	
	8
	valve
	

	4
	electric wires
	
	9
	fluid tank
	

	5
	hydraulic fluid
	
	
	
	


Exercise 2. Now complete this example answer with the words from Exercise 1 above.

	      The diagram shows how a hydraulic lift works. The system is quite simple and consists of the [1………], where passengers stand, a [2………] which raises and lowers the carriage and a circuit of pipes that carry [3………].

      When the passenger presses the ‘up’ [4………] to raise the lift, an electric signal is sent to a [5………]. This causes the pump to move fluid from the tank into the bottom of the [6………] so as to force the piston up. As the piston housing fills up with fluid, the piston is raised higher. The lift carriage, which is attached to the top of the piston, is also forced up. The direction of the flow of hydraulic fluid is shown by the blue arrows.

       When the passenger presses the ‘down’ control button, an electric signal is sent so that the pump is switched off. At the same time, a signal is sent to a [7………] placed just in front of the pump in order to shut off the flow of fluid from the [8………] to the piston housing. The valve’s new position allows hydraulic fluid to flow from the piston housing back into the fluid tank. This reverse flow is shown in the diagram by the red arrows. The piston and the lift carriage which is attached to it are then brought back down due to the force of gravity.


Exercise 3. Showing purpose (Supposed fulfilment time – 5 minutes)

Often you will need to explain what a component or a stage in a process is for. In other words, you need to explain the purpose of something. Here are some examples from the description of the lift:

	to + infinitive:
	When the passenger presses the ‘up’ control button to raise the lift…

	so that + full clause:
	…an electrical signal is sent so that the pump is switched off.



	in order to + infinitive:
	…a signal is sent to a valve in order to shut off the flow of fluid…



	so as to + infinitive:
	…move fluid from the tank into the bottom of the piston housing so as to force the piston up.


Choose the best way to complete each sentence. There may be more than one correct answer.

1. The water is boiled […..] kill harmful germs.

A in order to

B so as

C to

2. Scales are used […..] the ingredients are weighed accurately.

A so as

B so that

C in order

3. There is a battery […..] provide electrical power.

A so as

B to

C in order to

4. [..…] grow straight, the plant needs to be supported with a piece of wood.

A To

B In order to

C So as

5. The leaves need to be left in the sun […..] dry thoroughly.

A to

B so that

C so as to

6. The frame is made of aluminium [..…] the structure is light but strong.

A in order to

B so that

C to

Exercise 4.  Cause and result (Supposed fulfilment time – 10 minutes)

a) Look at the diagram below. What cause and result relationships are shown?
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Now complete this description of the process by using words and phrases from the box.

	as a result ( because  ( causes  ( consequently ( due ( give rise to ( 

on account of ( results in


Water leaks slowly into the cave [1………] there are thousands of tiny cracks and holes in the limestone rock. On its way down, the water absorbs the calcium carbonate present in the rock and this [2………] a mineral solution. Small drops of this solution form on the roof of the cave. When each drop falls, it leaves behind a ring shaped deposit of calcite. This process is repeated many times and [3………] a thin calcite tube is formed. This tube is sometimes called a soda straw [4………] its shape. Occasionally the soda straw gets blocked [5………] to a piece of stone or soil. This [6………] the drops of solution to pour down the outside of the straw. [7………], calcite deposits build up around the straw and these [8………] the typical cone shape of the stalactite. Only the straws that get blocked will eventually become stalactites.

Exercise 5. Relative clauses (Supposed fulfilment time – 5 minutes)

	Relative clauses are clauses in sentences which add information about the subject of the sentence. Sometimes this is extra information, and the sentence would be correct without the clause. In this case, we call the clause ‘non-defining’.

Look at this example from the description of the lift in Exercise 1:

The lift carriage is also forced up.

The lift carriage, which is attached to the top of the piston, is also forced up.

You can see that the clause adds extra information about the carriage, but the sentence is still grammatical without the clause. Notice that we use commas (,) to separate a non-defining clause from the main clause. Also, remember that you cannot use ‘that’ as a relative pronoun with non-defining clauses.

Other clauses add important information which describe or ‘define’ the subject of the sentence. Here’s an example:

Only the straws that get blocked will eventually become stalactites.

This time, the sentence would not make sense without the relative clause. There are no commas to separate the clause, and we can use that, where, who, which etc as the relative pronoun.


Connect the information to make sentences with relative clauses (non-defining or defining).

There is a light.

It turns on when the temperature rises.

Example: There is a light which turns on when the temperature rises.

A. A container.

It’s made of steel.

It catches rain water.

1._________________________________________________________________________________________________________________________________________________________

B. Chlorine is added to the tank.

It kills any dangerous bacteria.

2._________________________________________________________________________________________________________________________________________________________

C. The pages pass through a machine.

It cuts off the edges.

3._________________________________________________________________________________________________________________________________________________________

D. The programming takes six months.

It is done in India.

4._________________________________________________________________________________________________________________________________________________________

E. The mixture is heated to a temperature.

The temperature causes a chemical reaction.

5._________________________________________________________________________________________________________________________________________________________

Exercise 6.  Passive voice (Supposed fulfilment time – 5 minutes)
	Using the passive voice can add a more formal tone to your descriptions. Often, it is not even necessary to say who or what is responsible for certain actions in the process. Compare these two sentences, for example:

(Active voice): A worker collects the materials from the recycling bins.

(Passive voice): The materials are collected from the recycling bins.


Now rewrite these sentences using the passive voice.

Someone fits solar panels to the roof of the vehicle.

Example: Solar panels are fitted to the roof of the vehicle.

A. Miners extract bauxite from the ground.

1.____________________________________________________________________________

B. Occasionally someone adds zinc to the mixture.

2.____________________________________________________________________________

C. Mechanics regularly test the engine’s performance.
3.____________________________________________________________________________

D. Once the production team has completed the production process, dispatch workers send the product out to stores.

4.____________________________________________________________________________

As soon as the control centre has received the call, they send out a car to the customer.

5.____________________________________________________________________________

Exercise 7.  Putting it all together (Supposed fulfilment time – 10 minutes)

Look at the example task below and answer the following questions:

· How many segments are there in the system?

· What are the main components of each segment?

· What part does each segment play in the whole system?

Now complete the below description using the information from the diagram.

	You should spend about 20 minutes on this task.

The diagram shows how the Global Positioning System (GPS) works in order to help people find their location anywhere on Earth.

Write a report for a university lecturer describing the information shown below.

You should write at least 150 words
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The diagram shows how someone can find their exact location anywhere in the world by means of the Global Positioning System (GPS). The system has three main segments: [……………………………………………………………………………………………………………………….].

The [……………………………………] consists of 24 satellites which are put into orbit at an altitude of about [……………………….] km. Each one takes [……………….] hours to orbit the earth once. They have [……………………………….] which provide power and antennae in order to […………………………………………………………..] data. Each satellite continually transmits a coded message which includes information about [………………………………………………………………]. The satellites are fitted with [………………………………………………………] so that time is kept with great accuracy.

	OPTIONAL EXTENSION


Exercise 8. 
	You should spend 20 minutes on this task.

The diagrams below show the development of the horse over a period of 40 million years.

Summarise the information by selecting and reporting the main features, and make comparison where relevant.

Write at least 150 words.



Study the student’s answer. Correct grammar and stylistic mistakes to improve one.

The modern horse have had 4 stages in their evolution. 
In the first stage, from 60 million years ago to 40 million years ago, the horse "Eohippus" which ever had four same hooves, a small body size and a height of 0,4 meters had a growth in body size, three hooves with the middle one being bigger, and increase to 0,6 meters in height. 
After 10 million years, the horse "Mesohippus" changed into the horse "Merychippus" which had the development in body size and a growth to 1 meter in height. However, the number of hooves stay the same with the middle hoof being longer and bigger. 
While the previous periods improved their body size, the opposite was true of the horse "Pliohippus" 10 million years ago with a little smaller, a same height of 1 meter and having only a hoof in the third stage from 30 million years ago to 10 million years ago. 
In the final pharse of evolution, the modern horse appeared with body size growing greatly and height strongly increasing from 1 meter to 1,6 meters.
	ANSWER KEY


Exercise 1. a) 1; 2; 3; 4; 5; 7; 8; 9; b) 3; 11; 12; c) 5; d) 4 e) 9; f) 1; 7; (Note that 1 and 7 are (bar) graphs in American English and (bar) charts in British English);  g) 6; h) 6; i) 10; j) 8; k) 2;

Exercise 2. a) 1,6,7,10; b) 2,5,7, 8; c) 4; 

Exercise 3. a) 5 (a pie chart / a chart / a figure. It has no axes and can show segments or proportions; b) tables 8, 9, (the rows usually show various categories and the columns show years; c) 4 (a flow chart / a chart /a diagram / a figure. It has a number of stages or steps; It has no axes). d) 6 (charts / graphs / line graphs which are based on the horizontal axis and the vertical axis); e) 4 (a flow chart / a chart /a diagram / a figure. It has a number of stages or steps; It has no axes); f) 2; 5; 7 and 8 (charts / graphs / bubble graphs / radar charts / pie charts / bar charts. They show the proportion or percentage of the amount of something /people).

Exercise 4.
	

	
	
	

	soar, skyrocket, take off,

boom, shoot up, jump, lean
	go up, rise, increase, climb
	crash, plunge, plummet, slump, nosedive


	go down, fall, decrease, dip, drop, slip, slide

	


	
	
	

	stabilise, flatten out, even out, level off/out
	bottom out
	top out
	remain constant, remain unchanged, hold steady

	


	
	


	

	recover, pick up, bounce back, rally
	fluctuate, have/experience

a few ups and downs
	peak/reach a peak,

reach a high/an all-time high
	reach a low/an all-time low


Exercise 5. 
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Exercise 6.  1). The figure shows extend of the private consumption based on purchasing power parity for 2005.

2). The chart provides the shares of foreign-born specialists with Science or Engineering Doctorate Degree living in America in 2008.

3). The charts provide the details of the annual outflows direction of foreign direct investment for chosen areas and nations between 1985 and 2006.

4). The bar chart illustrates the amount of steel produced and consumed in China and the USA over the nine year period.

5). The table illustrates the annual rates of inflation figures in consumer prices for some countries in 1995, 2000, and 2008.

6). The chart provides the stages of the process of selection the foreign market segments.

7). The figures illustrate regional and global increase in population and the rise in amount of people living in cities from 1950 to 2000 with a forecast for 2050.

8). The table shows the top global brands categorized by their price from 2006 to 2008.

9). The graph shows instability of euro to U.S. dollar exchange rate throughout the period from January 2004 to September 2008.

Exercise 7. 

Figure 1. The chart provides the details of the annual outflows direction of foreign direct investment for chosen areas and nations between 1985 and 2006. It shows remarkable growth of FDI flow to the developing countries.

Figure 2. The bar chart illustrates the amount of steel produced and consumed in China and the USA over the nine year period. It is noteworthy that steel consumption exceeded production in both countries.

Exercise 8. Student’s answer
This graph provides the information about the volumes of coffee sold by Starbucks company to the European countries over the period from 2000 to 2009. It is noteworthy that throughout the period the export figure reduced by $10 mln. In 2000 the amount of coffee exported to the countries mentioned was $710 mln. There was not any remarkable change in the quantity of coffee exported up to 2003 when the export figure began to go up sharply reaching a peak of $750 mln. In 2005 there was a decline in export proved by its performance number of $730 mln. In 2005 there was a slight fluctuation followed by a disastrous slump which hit a low of $650 mln. From 2007 Starbucks’ coffee export activity figure started to recover. Having levelled off in 2008, it remained steady in 2009. 

	DESCRIBING CHARTS


Exercise 1.

1 F The chart shows workers coming into Australia; 2 T; 3 I The chart only shows immigrant workers; there’s no information about other immigrants; 4 T; 5 F The vertical axis is ‘thousands’ not percentage; 6 I The chart doesn’t give information about total numbers of foreign workers in Australia; 7 T; 8 F More temporary workers arrived than workers who were permanent settlers.

Exercise 2.  1 1991; 2 three; 3 majority; 4 two thirds; 5 second largest; 6 a fifth; 7 a tenth; 8 the third largest; 9 smaller; 10 four; 11 smallest; 12 three.
Exercise 3.

The chart shows the different nationalities that made up the immigrant work force in Australia in 1991. It’s clear from the chart that there were three main groups of workers: Europeans, Asians and New Zealanders. Only a relatively small number of workers were from other regions. The majority of foreign workers came from Europe. In fact, nearly two thirds of all immigrant workers were of European origin. The second largest group of foreign workers in the labour force were Asians. They represented just under a fifth of the immigrant labour force. New Zealanders, who made up almost a tenth of the foreign workforce in that year, were the third largest group. The number of workers from other nationalities was much smaller. Workers from North Africa and the Middle East, for example, were only four per cent of the whole foreign labour force. The smallest nationality group, however, were Americans. These represented only three per cent of all foreign workers in Australia in 1991.

Exercise 4. 1 changed; 2 increased; 3 were; 4 had fallen; 5 had risen; 6 stood; 7 had gone.

Exercise 5. 1 A,C; 2 B; 3 D; 4 D; 5 B,C.

Exercise 6.  1 shows; 2 will have changed; 3 was; 4 had; 5 was; 6 makes; 7 will change / will have changed; 8 will have / will have had; 9 will have reached; 10 will have increased.
	DESCRIBING TABLES


Exercise 1. 1F; 2I; 3T; 4T; 5T; 6F; 7I; 8T.

Exercise 2. 
	3a tenth 

9one in ten

12ten per cent
	1a fifth 

7one in five

16twenty per cent
	2a quarter

8one in four

15twenty five per cent

	4 a third

10one in three

6just over thirty per cent
	14three quarters

13three out of four

11seventy five per cent
	18two thirds

17two out of three

5just over sixty per cent


Exercise 3. 

16-24-year-olds had the greatest Internet usage. In 2004, for example, 1[nine] out of ten people in this age group used the Internet. In 2001 just over 2[two-thirds/sixty per cent] of 25-44-year-olds used the Internet. Two years later, the figure was just over 3[three-quarters/seventy-five per cent/three out of four].

For the 45-54-age group, Internet usage rose from just under 4[half/fifty per cent] in 2000 to 5[three-quarters/seventy-five per cent/three out of four] in 2005. In 2000, only one in 6[four] 55-64-year-olds used the Internet. This figure had risen to over 7[half/fifty per cent] by 2005.

Exercise 5. 

The table shows how 1[much/many] time people spend on certain daily activities. Not surprisingly, everybody surveyed spent 2[a lot of/many] time sleeping. However, men spent slightly 3[fewer/less] time sleeping than women did. After sleeping, the next most time consuming activity was housework, taking up 178 minutes per day, on average. Again, though, there was a marked difference between men and women, with women spending 4[many/much] more minutes per day on this activity than men. In addition, a greater 5[amount/number] of women than men reported that they spent time on housework and childcare. In contrast, men spent a greater 6[amount/number] of time on their hobbies and games than women did. Very 7[few/many] people surveyed spent much free time on entertainment and culture. For the 8[majority/most] of people, free time was spent watching television. Almost nine out of ten people reported that they spent 9[several/lots] hours watching TV every day.
Exercise 6. Sample answer.

The table shows [what proportion of the adult population in Great Britain are smokers] and compares the prevalence of smoking [between the sexes and across the age groups]. It’s clear from the figures that smoking is most common [among the 20 to 24 year-olds]. Nearly [a third of] men and exactly [a quarter of] women are light smokers at this age, while [five per cent of both men and women at this age] are heavy smokers. The figures also show that as age increases [there are fewer and fewer smokers]. This trend is true for [both men and women]. The most disturbing figures are those for 16 to 19 year olds. Around [a quarter of the population have already started smoking by the age]. The percentage for girls [is notably higher than that for boys] in this age group, but it seems that teenage boys [smoke less cigarettes than teenage girls].

	DESCRIBING DIAGRAMS


Exercise 1.
	1
	lift carriage
	F  
	6
	piston housing
	I

	2
	control buttons
	A
	7
	pump
	E

	3
	piston
	G
	8
	valve
	H

	4
	electric wires
	C
	9
	fluid tank
	D

	5
	hydraulic fluid
	B
	
	
	


Exercise 2. 1 lift carriage; 2 piston; 3 hydraulic fluid; 4 control button; 5 pump;  6 piston housing; 7 valve; 8 tank.
Exercise 3.

1 A, C; 2 B; 3 B,C; 4 A,B; 5 A,C; 6 B.
Exercise 4.

1 because; 2 results in; 3 as a result / consequently; 4 on account of; 5 due; 6 causes; 7 Consequently; 8 give rise to.
Exercise 5. (Possible answers)

1 A container, which is made of steel, catches the rain water.

2 Chlorine, which kills any dangerous bacteria, is added to the tank.

3 The pages pass though a machine which cuts off the edges.

4 The programming, which takes six months, is done in India. / The programming, which is done in India, takes six months.

5 The mixture is heated to a temperature which causes a chemical reaction.

Exercise 6.

1 Bauxite is extracted from the ground.

2 Zinc is occasionally added to the mixture.

3 The engine’s performance is regularly tested.

4 Once the production process has been completed, the product is sent out to stores.

5 As soon as the call is received, a car is sent out to the customer.

Exercise 7. Student’s answer
The diagram shows how someone can find their exact location anywhere in the world by means of the Global Positioning System (GPS). The system has three main segments: the space segment, the control segment and the user segment.

The space segment consists of 24 satellites which are put into orbit at an altitude of about 20,000 km. Each one takes 12 hours to orbit the earth once. They have solar panels which provide power and antennae in order to receive and transmit data. Each satellite continually transmits a coded message which includes information about its position and the exact time of transmission. The satellites are fitted with atomic clocks so that time is kept with great accuracy.

The control segment consists of a number of monitor stations at different locations on Earth and a main control centre in Colorado, USA. Any slight changes in the orbit of the satellites can be detected by the monitor stations. This information is then sent to the control centre, and from here it is transmitted back to the satellites. Consequently, the satellites can always transmit their exact position to users. The user segment is basically a handheld receiver capable of picking up signals from the satellites.

The receiver compares the time a signal was sent with the time it was received. As a result, the distance between the user and the satellite can be calculated. By taking similar measurements from four satellites, the receiver can pinpoint the exact location and altitude of the user on Earth.
	Optional Extension: Horse Evolution


The modern horse (EXPERIENCED 4 STAGES IN ITS)  evolution. 

In the first stage, from 60 million years ago to 40 million years ago, the horse (CALLED) "Eohippus" which ever had four same hooves, a small body size and a height of 0,4  (METER) had a growth in body size, three hooves with the middle one being bigger, and (AN) increase to 0,6  (METER) in height. 

After 10 million years, the horse (CALLED) "Mesohippus" changed into the horse (CALLED) "Merychippus" which had the development in body size and a growth to 1 meter in height. However, the number of hooves  (STAYED) the same with the middle hoof being longer and bigger. 

While the previous periods  (SAW THE IMPROVEMENT IN ITS)  body size, the opposite was true of the horse (CALLED) "Pliohippus" 10 million years ago with a little smaller (BODY),  (THE) same height of 1 meter and  only a hoof in the third stage from 30 million years ago to 10 million years ago. 

In the final phrase (SPELLING) of evolution, the modern horse appeared with (ITS) body size growing greatly and height strongly increasing from 1 meter to 1,6 meters.

	USEFUL PHRASES


Introducing a figure:

This figure refers to…, The pie chart shows…, The bar chart provides information about…, This line graph represents…., The chart describes…, The diagram outlines..., This table lists..., This line chart depicts..., etc.
Second sentence of the introduction

It is noteworthy that…/ It is noticeable that…/ The striking feature to this figure is…/ The data can be split into… and I will look at each of these in turn./ I will first look at… and then describe…

Describing main trends:

Despite occasional fluctuation…, With a slight drop during the holiday season…, With occasional variations due to…, The initial surge in (sales) was followed by a period of slower growth in the second half of the year, The instant success of the product was followed by a period of stabilisation in the level of sales.

Starting the first main paragraph

The first thing you notice looking at the graph is…/ The most noticeable trend is…

The biggest/ most noticeable/ most important difference/ similarity between the lines/

graphs is… Starting with…/ Looking first of all at…
Things going up

 soar, skyrocket, take off, boom, shoot up, jump, lean, go up, rise, increase, climb
Things going down

 crash, plunge, plummet, slump, nosedive, go down, fall, decrease, dip, drop, slip, slide
Going up and down

fluctuate/have/experience a few ups and downs.../ be unsteady.../… but remain between… and…
Staying the same

remain constant, remain unchanged, hold steady
Becoming flat

stabilise, flatten out, even out, level off/out, bottom out, top out
Similarities

A similar trend/ Follow/ (Very) similar/ (Almost) the same

Differences

(Far/ Much) …/ (Not) (nearly) as…as…” While…,…/ In contrast,…/… shows a rather/ very different pattern/ trend. We can contrast this with…/… is almost the exact opposite. … is (a/ the) (major) exception…

Describing other detail:

The industry is now experiencing a steady…., There has been growing…, There was a rise to/by...  in (sales) ( an increase to/by...( a fall to/by... ( a drop to/by... (  The turnover shot up to/by... ( plunged to/by... (  stayed at/remained at ... ( fluctuated between/around..., etc.

Summarising overall patterns:

To sum up then, ..., To conclude,…, Finally, ...., Overall,…
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USEFUL PHRASES


Introducing a figure:


This figure refers to…, The pie chart shows…, The bar chart provides information about…, This line graph represents…., The chart describes…, The diagram outlines..., This table lists..., This line chart depicts..., etc.


Describing main trends:


Despite occasional fluctuation…, With a slight drop during the holiday season…, With occasional variations due to…, The initial surge in (sales) was followed by a period of slower growth in the second half of the year, The instant success of the product was followed by a period of stabilization in the level of sales.


Describing other details:


The industry is now experiencing a steady…., There has been growing…, There was a rise to/by...  in (sales) ( an increase to/by...( a fall to/by... ( a drop to/by... (  The turnover shot up to/by... ( plunged to/by... (  stayed at/remained at ... ( fluctuated between/around..., etc.


Summarising overall patterns:


To sum up then, ..., To conclude,…, Finally, ...., Overall,… 





TIP


Consider this DON’Ts list when describing the graph.


( DO NOT describe the X and Y axis but give the information, instead. 


( DO NOT write everything on the graph. Pick the biggest, the smallest, the main points and the main trends. Group similar things together.


( DO NOT write about the line or the bar: e.g. ″The line went up″, ″The bar went down″. Instead, write about the idea: e.g. ″The number of people going to work by train increased gradually″.  ″Oil production shot up in 1965″.


( DO NOT use shorthand. Make sure you write about the idea: e.g. ″Men went up″, ″Women went down″. Instead, write about the real data: e.g.  ″The number of men at university fell dramatically″, ″The percentage of female students getting a degree rose suddenly.″ 


( DO NOT use phrases suggesting your opinion: e.g. ″I feel″, ″As I have written″, ″As you can see″ , etc.  Keep it academic.


( DO NOT start sentences with But, So, Also, And, For, Since, Because,  Although.


( DO NOT have any numbers in the conclusion (you can use the words like ″most″, ″the majority″, ″a minority″, ″a small number″).











Possible Introduction


The bar chart shows the proportion of world products exports across different areas and countries during the time periods listed.








Remember


Tell the reader what the diagram is about but you mustn’t repeat the question. You need to be able to reword the question quickly. This takes some practice. Don’t worry if it is hard at first – keep practising.








Task Sample


The figure illustrates world export of merchandise by selected region and nation for 1980, 1990, 2000, 2007.








Figure 1. Direction of Foreign Direct Investment (Annual Flows) for Selected Regions and Countries 


(in $000,000,000’s)
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Figure 2. Steel Production and Consumption in China and the USA, 2000 – 2009.
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Ряд 1

UK  Unemployment rates  (16+ year olds): May 2003-2006
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				Для изменения диапазона данных диаграммы перетащите правый нижний угол диапазона.
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